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Abstract  This paper suggests more simple algorithm than Hungarian algorithm for assignment problem.
Hungarian algorithm selects minimum cost of row and column, and subtracts minimum cost from each cost.
Then, performs until the number of minimum lines with O equals the number of rows. But, the proposed
algorithm selects the minimum cost for each rows only. From the start point with over 2 to the target point
with null selects in column, fixes the maximum opportunity cost that the difference of the cost of starting point
and target point, and moves the cost less than opportunity cost th more than previous cost. For the 25 balance
and 7 unbalance assignment problems, This algorithm gets the optimal solution same as Hungarian algorithm.
This algorithm improves the time complexity O(n®) of Hungarian algorithm to O(n?), and do not performs the
transformation process from unbalance to balance assignment in Hungarian algorithm. Therefore, this algorithm
can be alter Hungarian algorithm in assignment problem.
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Priority =D, (25) < Dy(40)

Optimal Solution - z=20+48+16+25

(f) B,

Priority =D,(20) < D,(50)

s@o1o0o@ @oot

Fix:, {16-8=8),(42

75 27

93

75 81 (30

24

96 90

Optimal Solution: z=20+42+15+15+50=142 1 1 1 1 1

(9) z. &Y =

Fix: , {(37-28=9).(24-21=3),(32-30 = 2).(39~34=5)}

Priority =D,(29) < D, (30)

@ o

Fix: 1, {(36-25=11).(30~29=10)}

20 62 41 34(39

25e2e33228030-10 1 1 1 1 1

Optimal Solution: ==

(h) =, &Y 2H

Priovity =D,(8) < D,12) B (-7-0.0-8-0)  Te={l35D=DE-7-D)

s s (6)

14 15 14§

8 10|

9 9 8]

Optimal Solution: z=8+7+6+12+8+8=49 1 1 1
() = &Y =H

a2 11, 274 ol MEHEl Ho| 27421 &L
Fig 11. Case of More Than 2 Column for selects

more than 2
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Optimal Solution: z=5+0+11=16

(b) B &g ZH|

0377 434 333 292] 333 29K
7584 13 16 12 117 120 25 22 28 60 80 50 [#)329 G3D 283 (262 (283 264
5674 15 0 13 20| |15 18 23 17 50 30 60 0338 422 380 296 389 296
8798 5 7 10 6 19 17 21 24, 70 90 40 01(37.0 347 304 285 304
(UB) 80 50 70, 0[354 418 336 311 0354 418 336 311 336 311
(UB) ' (UB) R won B
e, {(33.8-32.0-00),(34.7-33.1-16), (304 0).(285-264=10)} . {(418-347=71).(292-285=07)}
9 14 19 15 S ~
7 17 20 19 34 31 20 27 24 24 18 33 35 19 1 434 333
9 18 21 18 14 14 22 34 26 19 22 29 22 19 1 331 264
10 12 18 19 22 16 21 27 35 25 30 22 23 23 7
17 21 24 16 31 22 20 27 26 17 1 389 29
10 la 21 16 17 29 22 31 18 19 26 24 25 14 1 304 285
26 29 37 34 37 20 21 25 27 27 Optimal Solution : =292+28.5+33.8+347=1262 () 336 311
30 28 37 28 29 23 19 33 30 21 - -
28 21 30 24 35 20 24 24 32 24 '
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(UB;) 0
1

27 32 27

25 31
19

Priority :5,,(19) > S5(18) > 5,(14)
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